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Example Suppose that by any time ¢ the number of people who have arrived at a train depot

50 is a Poisson random variable with mean Az. If the initial train arrives at the depot at a

time (independent of when the passengers arrive) that is uniformly distributed over
(0, 7)), what are the mean and variance of the number of passengers who enter the
train?
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Example Sums of independent Poisson random variables

7
8 Calculate the distribution of X 4+ Y when X and Y are independent Poisson random

variables with means respectively A1 and X,.

X v Prsssmn (V) , Y~ Prissom (%)
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Example Sums of independent normal random variables

th Show that if X and Y are independent normal random variables with respective

parameters (,ul,alz) and (uz,azz), then X + Y is normal with mean pu; + w2 and
variance 012 + 022.

X~ NCp, o>, Y~ N(pa, 052
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